DU MA Hindi

Topic:- DU_J19_MA_HINDI

1) gH Aipwa A & &1 ugen w3 fFA AT 82 [Question ID = 14591]

1. TTRETY [Option ID = 28361]

2. Jdd [Option ID = 28363]

3. WREUIE [Option ID = 28362]

4. SMfAYE IR [Option ID = 28364]

Correct Answer :-
o UIgUIq [Option ID = 28362]

2) ACElt AT Pt T BT A B-
[Question ID = 14629]

1. ARHAIYREI [Option ID = 28514]
2. YsTURTUT [Option ID = 28513]

3. UHYUFR [Option ID = 28516]

4, YNGR [Option ID = 28515]

Correct Answer :-
« UTFR [Option ID = 28516]

3) ‘it i+l i< aefar feae T 82 [Question ID = 14684]

1. XTg! ALY ST [Option ID = 28733]

2. 315 faf¥TeaTg [Option ID = 28734]
3. YMRR ¥8TgR Rig [Option ID = 28736]
4. TERR T MY [Option ID = 28735]

Correct Answer :-

. 3fsgd fafSTeaTe [Option ID = 28734]

4) HETdR uaTe 33t frd ufiet &1 WureT #3d 42 [Question ID = 14640]

1. SITETUT [Option ID = 28559]
2. ¥ [Option ID = 28560]
3. §g [Option ID = 28557]

4. TTEYRY [Option ID = 28558]

Correct Answer :-
« TR [Option ID = 28560]

5) TI-UeTHAl 9T Y UIpd | T Hed 22 [Question ID = 14601]

1. TE®HTH [Option ID = 28403]
2. 97 [Option ID = 28402]

3. 3RETRIeT [Option ID = 28401]
4, UdY BT [Option ID = 28404]

Correct Answer :-
» ] [Option ID = 28402]

6) AR T Y TSt F =Mfhe 7€ 8- [Question ID = 14657]
1. fawfiran [Option ID = 28628]



2. YR &1 a9 &1 & [Option ID = 28627]
3. YRA-HRd! [Option ID = 28625]
4. SUEY 9Y [Option ID = 28626]

Correct Answer :-
o OR & a9 §81 g4 [Option ID = 28627]

7) ‘AreAt 9ga Muter’ fE@! 9T 82 [Question ID = 14663]
1. TG [Option ID = 28649]

2. HHAR [Option ID = 28651]
3. YREN [Option ID = 28650]
4. AW AR [Option ID = 28652]

Correct Answer :-
o HJAIA AR [Option ID = 28652]

8) ‘<lufRrar f»d faer $Y T 82 [Question ID = 14685]

1. FTc® [Option ID = 28740]

2. HIddT [Option ID = 28739]
3. YERUT [Option ID = 28737]
4. HEHI [Option ID = 28738]

Correct Answer :-
« HIqdT [Option ID = 28739]

9) ‘Rraxiy &1 fagr fFT®) TWAT 82 [Question ID = 14641]

1. TP < T [Option ID = 28561]
2. AETAR UG fgaet [Option ID = 28563]

3. STEIpWI HE [Option ID = 28562]
4. 399 q BIs &I [Option ID = 28564]

Correct Answer :-

« dITHP< T [Option ID = 28561]

10) Sifasra 1 scipd sTar fHa= A &
[Question ID = 14589]

1. SISt g [Option ID = 28353]

2. fas=myuse firg [Option ID = 28355]
3. YW Yo [Option ID = 28354]

4. fi19 9% [Option ID = 28356]

Correct Answer :-
- 88 S [Option ID = 28356]

11) TR fhae! T 82
[Question ID = 14676]

1. HSTIS [Option ID = 28702]

2. Ygdleae [Option ID = 28701]
3. WRd G [Option ID = 28704]
4. 3f¥9 7w [Option ID = 28703]

Correct Answer :-
« Yd g [Option ID = 28704]



12) XTSI IMHAGRT 3 $IF-91 741 7d Idr1?
[Question ID = 14633]

1. IS FHIST [Option ID = 28532]
2. WA YA [Option ID = 28529]
3. 3 AT [Option ID = 28530]
4. SIS [Option ID = 28531]

Correct Answer :-
o SIRTHHISI [Option ID = 28531]

13) ‘afgiu frg ISR &) T 82 [Question ID = 14681]

1. IS [Option ID = 28724]
2. HIRATY g [Option ID = 28721]
3. HFHAYR [Option ID = 28722]
4, Idt=% HIferT [Option ID = 28723]

Correct Answer :-
« MRS [Option ID = 28724]

14) “TYTHII P IAAAT BT 82 [Question ID = 14603]

1. TTRETY [Option ID = 28411]
2. daavars [Option ID = 28410]
3. 8H9% [Option ID = 28409]

4. g1 [Option ID = 28412]

Correct Answer :-
» BId [Option ID = 28412]

15) T Sft BT ARRT fFEPY AT 82 [Question ID = 14624]

1. 399 ¥ ft &1 7811 [Option ID = 28496]
2. HRTETS [Option ID = 28493]

3. ggullaTs [Option ID = 28494]

4. TTTETS [Option ID = 28495]

Correct Answer :-
« HRTETE [Option ID = 28493]

16) ‘e {9 af ywTRIA §3M? [Question ID = 14686]

1. 1938 [Option ID = 28742]
2. 1940 [Option ID = 28743]
3. 1936 [Option ID = 28744]
4. 1937 [Option ID = 28741]

Correct Answer :-
e 1936 [Option ID = 28744]

17) ‘qURATHR’ & TARAGT &- [Question ID = 14598]

1. g fSHfds R [Option ID = 28389]
2. SIfRIAR [Option ID = 28391]

3. YRR YR [Option ID = 28392]

4. IMRE [Option ID = 28390]

Correct Answer :-
« IfcRIYR [Option ID = 28391]

18) ‘WIfecy &t YUY’ frae! el g3 Smel=-T Y&® 32 [Question ID = 14648]



1. TH Yo [Option ID = 28591]

2. TR o [Option ID = 28589]

3. HETdRYNTE fgde! [Option ID = 28590]
4. fRigeRig 9 [Option ID = 28592]

Correct Answer :-

. fraemRig g™ [Option ID = 28592]

19) ‘faf¥®’ FeF & AW @: [Question ID = 14682]

1. XTg! ALY ST [Option ID = 28727]
2. RRrgvre g [Option ID = 28726]
3. 378 ¥ PI3 Tl [Option ID = 28728]
4. IEAYHTY [Option ID = 28725]

Correct Answer :-
o JUUBIRI [Option ID = 28725]

20) ‘f&d wifeca &1 3nfewrar fFaet T 872 [Question ID = 14587]

1. AR WG fgddl [Option ID = 28345]
2. ST P YS [Option ID = 28348]

3. JHEE YA [Option ID = 28347]

4. g8} e fga<l [Option ID = 28346]

Correct Answer :-

. TR UWE fgdd [Option ID = 28346]

21) “3Fch & 1 Hifere IuR usd usd fEd A arem Sifvar et a1 uHem § R — ag wu e 82
[Question ID = 14634]

1. HETdR UTE fgddl [Option ID = 28535]
2. JHEg YT [Option ID = 28534]

3. YURdg SRY% [Option ID = 28533]

4. 3789 Y P13 7EI | [Option ID = 28536]

Correct Answer :-
o JHdg Yo [Option ID = 28534]

22) ‘gemT af¥d’ fae AT 82 [Question ID = 14597]

1. Mfd=<<waHl [Option ID = 28388]

2. WG [Option ID = 28386]
3. 9¢G&M [Option ID = 28385]

4. TG [Option ID = 28387]

Correct Answer :-
« FcaM [Option ID = 28385]

23) &l & Ugd YHRYS HT 919 HT 82 [Question ID = 14632]

1. UTE [Option ID = 28528]

2. 3d AdS [Option ID = 28525]

3. QHTER YIS [Option ID = 28527]
4. §TRY AR [Option ID = 28526]

Correct Answer :-
. 3<d IS [Option ID = 28525]

24) 39 A PH-A T N5 P AL &2

[Question ID = 14644]



1. IRY [Option ID = 28576]

2. IR [Option ID = 28575]
3. gHIdT [Option ID = 28573]
4. YA [Option ID = 28574]

Correct Answer :-
« ARY [Option ID = 28576]

25) A8 | FH-A AT RN $t g1 St 82
[Question ID = 14618]

1. ATfgdeTaRt [Option ID = 28471]
2. YRERTGA! [Option ID = 28470]

3. IRIWR [Option ID = 28469]
4, TRTTEERT [Option ID = 28472]

Correct Answer :-

« TATETERI [Option ID = 28472]

26) TAH A HH- AT TR Rig Ras 31 22
[Question ID = 14654]

1. IRAT [Option ID = 28616]

2. 34T I [Option ID = 28614]

3. 91T [Option ID = 28613]

4. T §g 9gdI IJell [Option ID = 28615]

Correct Answer :-
« IR [Option ID = 28616]

27) 79 9§ SF-H I R UR & T8 82
[Question ID = 14656]

1. BUST @IeT [Option ID = 28621]

2. 91a 7fid T [Option ID = 28624]

3. 3R H [Option ID = 28623]

4, TSI PT ¢adT [Option ID = 28622]

Correct Answer :-
. 3R T [Option ID = 28623]

28) AN | HH-A AT AN Pt AE) 82
[Question ID = 14664]

1. STET §SIRATY [Option ID = 28653]
2. ISV & 9 [Option ID = 28656]

3. IS 91 [Option ID = 28654]

4. IfAATY BT AT [Option ID = 28655]

Correct Answer :-
o Il ST [Option ID = 28654]

29) AN | FH-T AT VH=iC P TSN 82
[Question ID = 14643]

1. TT& [Option ID = 28572]



2. fUaTiR=T [Option ID = 28571]
3. ¥arIGH [Option ID = 28569]
4. T [Option ID = 28570]

Correct Answer :-

« rRaTf=t [Option ID = 28571]

30) IR &1 IR’ fhaapt AT 82
[Question ID = 14650]

1. AR G [Option ID = 28599]
2. SISRd &l [Option ID = 28600]

3. HETedt gHf [Option ID = 28598]

4. UHE [Option ID = 28597]

Correct Answer :-
« Uwdg [Option ID = 28597]

31) IS Yo A faemufa # {9 sraes & siavfa 7@ 82 [Question ID = 14592]

1. YfddepTd [Option ID = 28366]
2. 3fTf¢aTa [Option ID = 28365]
3. Tl 71811 [Option ID = 28368]
4. fdHTe [Option ID = 28367]

Correct Answer :-
« 3f1fadTd [Option ID = 28365]

32) “g@! W fags, wRE o fda=nfert serumar fireq A iR #1s wfa wud =8t g1~ — g frw fa & e wg1 M 82
[Question ID = 14623]

1. [98RY [Option ID = 28490]
2. U< [Option ID = 28491]

3. JaNiG [Option ID = 28492]
4. JRa1d [Option ID = 28489]

Correct Answer :-
 TAMG [Option ID = 28491]

33) sR=ier waE gEre: frd faur & aus 82
[Question ID = 14661]

1. 3{TIHT [Option ID = 28644]
2. HgMI [Option ID = 28641]
3. &% [Option ID = 28643]

4. IUAT [Option ID = 28642]

Correct Answer :-
« U [Option ID = 28643]

34) ‘BRAFAGSTURU fHH ARA F} TT 82 [Question ID = 14611]

1. “fd=IRA [Option ID = 28443]

2. TR [Option ID = 28444]

3. 3[IBRRIA [Option ID = 28442]
4. fTIA [Option ID = 28441]

Correct Answer :-
o SIPRRIRA [Option ID = 28442]



35) Hdd 1890 H ‘¥pd b AR Bl WRITYAT fod e H g3 A? [Question ID = 14631]

1. §&% [Option ID = 28524]

2. ST [Option ID = 28522]
3. 3RT [Option ID = 28521]
4. FIET [Option ID = 28523]

Correct Answer :-
o 3I'IRT [Option ID = 28521]

36) YIE fPH JUSH & Uad® &2 [Question ID = 14677]

1. 3fd [Option ID = 28706]

2. 379  HIS 7TeT [Option ID = 28708]
3. 79 [Option ID = 28707]

4. 3{dHR [Option ID = 28705]

Correct Answer :-
+ 3[APR [Option ID = 28705]

37) ROAE! 3R F’ fraed! w1 82 [Question ID = 14659]

1. feAzHfet STaffran [Option ID = 28635]
2. S Hiadt [Option ID = 28636]
3. He YR [Option ID = 28633]

g7 [Option ID = 28634]

Correct Answer :-
« PN el [Option ID = 28636]

38) dadier fa rHaRa AR f yTar # et 1 872 [Question ID = 14608]

1. 31a4t [Option ID = 28431]

2. HISTGRY [Option ID = 28432]
3. §I9T [Option ID = 28430]
4. f&<} [Option ID = 28429]

Correct Answer :-
« 3fa¢ft [Option ID = 28431]

39) Sifsl BRRIT #t (e 19 &
[Question ID = 14600]

1. TR forevar 3iia fg=g&™ [Option ID = 28399]
2. TRATEER ferever 3fg AT fe=g& [Option ID = 28398]

3. Y& gfeIeR faevar 3ifq %w [Option ID = 28400]
4. A&~ RATFER fere=R 3ifa A fe=g&™ [Option ID = 28397]

Correct Answer :-

o Tl AR fAeaR 3i7d AlgH e [Option ID = 28397]

40) .3y, AR, HEW, Ad, WH Iq-R|
fraa, w3, e gfe wa, sife fdea s& a1~

-3 UfRaal & TEETPR S 82
[Question ID = 14622]

1. 38 ¥ B8 7 [Option ID = 28488]
2. I [Option ID = 28486]

3. faeT} [Option ID = 28485]

4. YUfd [Option ID = 28487]



Correct Answer :-
+ I [Option ID = 28486]

41) URdg sives &1 forar ugan Hifer® ATe® 2- [Question ID = 14635]

1. fo=geR [Option ID = 28537]

2. -1g¥ [Option ID = 28538]

3. dfgat fgam fgm = wafd [Option ID = 28540]
4. 9g1qdl [Option ID = 28539]

Correct Answer :-

. afewt fean figar 7 wafd [Option ID = 28540]

42) “yuur fag 9 faRrers, wfaan, afvar o117 — g Sfad i FATeR #Y 82 [Question ID = 14615]

1. YT [Option ID = 28457]

2. OfaRT™ [Option ID = 28459]
3. HREGN [Option ID = 28458]
4, 3T [Option ID = 28460]

Correct Answer :-
« PTG [Option ID = 28458]

43) RS ) Ui fra Ut Ft UfRT 82 [Question ID = 14596]

1. TR Y19 [Option ID = 28381]
2. 38 ¥ PIS 7Tal [Option ID = 28384]
3. A1 HTa [Option ID = 28383]
4. §¥J YHId [Option ID = 28382]

Correct Answer :-
o W YId [Option ID = 28382]

44) ‘3R TR I TS’ fHAP! 9T 82 [Question ID = 14652]

1. IMHHUR AT [Option ID = 28607]

2. 93 Mfd<er [Option ID = 28606]

3. GfeIgg R aIedIaH ‘3R’ [Option ID = 28605]
4. RI9YSI I8 [Option ID = 28608]

Correct Answer :-

. gfeIgg gRHG aredra- ‘3RIA’ [Option ID = 28605]

45) ‘g AT BT IR S TEAPR &- [Question ID = 14660]

1. AYATY T [Option ID = 28637]
2. *RIUATE T [Option ID = 28638]
3. A% USY [Option ID = 28639]

4. IR A8 [Option ID = 28640]

Correct Answer :-
« TRJUETE T [Option ID = 28638]

46) AT 3R AU & TEATPR B: [Question ID = 14655]

1. MIRSIIHAR AR [Option ID = 28617]
2. YarHue {3y [Option ID = 28619]
3. R AT [Option ID = 28620]

4. STGIRIEE ATYR [Option ID = 28618]

Correct Answer :-

o fi ?GI@IIR HIYR [Option ID = 28617]



47) 319 9 {59 &fa T el W ‘gEHT’ U1? [Question ID = 14626]

1. G [Option ID = 28502]
2. IRAME [Option ID = 28504]
3. HESN [Option ID = 28503]
4. ST [Option ID = 28501]

Correct Answer :-
« ST [Option ID = 28501]

48) 379 A f5g ®fa 7 T 3R PR a1 wR Afaviy for@ 2 [Question ID = 14673]

1. dIST [Option ID = 28692]

2. AfaR™ [Option ID = 28689]
3. 3{TTH [Option ID = 28691]
4. YT [Option ID = 28690]

Correct Answer :-
« HfcRT™ [Option ID = 28689]

49) 79 § B9 W I IUTA B 82 [Question ID = 14658]

1. TRTHT BT S [Option ID = 28630]
2. 30T [ [Option ID = 28631]

3. f&aam [Option ID = 28629]

4. TH 9 XD [Option ID = 28632]

Correct Answer :-
. f&a [Option ID = 28629]

50) A I I W 9T faemufa & 7€) 82 [Question ID = 14605]

1. PIfUdI®T [Option ID = 28418]
2. Ugrgd! [Option ID = 28419]

3. @ifcfaar [Option ID = 28417]

4, SrgEed I [Option ID = 28420]

Correct Answer :-

. Sgdcd I [Option ID = 28420]

51) 399 A B At =T Hfaar faur FY 7€) 82 [Question ID = 14665]

1. 1G4 & -A1d [Option ID = 28657]

2. YR YR W1 ¢ [Option ID = 28658]

3. 89IR B9IR Sigiareit [Option ID = 28659]
4. fadelt [Option ID = 28660]

Correct Answer :-
« faddi [Option ID = 28660]

52) 399 A P9 It AT $fF FERATY Rig F) 82 [Question ID = 14666]

1. g9 &gT UT [Option ID = 28662]

2. 49¢ ¥ Y8F dd [Option ID = 28664]
3. T4 U IE! @ [Option ID = 28661]
4. BT Td F1 T [Option ID = 28663]

Correct Answer :-
« O 9% ! 8 [Option ID = 28661]

53) Mamfa<’ fFa$! [T 82 [Question ID = 14610]

1. STCd [Option ID = 28437]



2. T R [Option ID = 28439]
3. 3IEGHIUI [Option ID = 28438]
4. gRkarg fARSHT [Option ID = 28440]

Correct Answer :-
« STTcd [Option ID = 28437]

54) T Hfq 5T ae=TE & XN Hfd A? [Question ID = 14616]

1. 3RS [Option ID = 28463]
2. 3SR [Option ID = 28461]
3. TRME [Option ID = 28462]
4. TMETgl [Option ID = 28464]

Correct Answer :-
o 3{HR [Option ID = 28461]

55) “HTNT 3R IS fHTe! T9T 82 [Question ID = 14671]

1. SITH IIRSDT [Option ID = 28684]

2. GHIFIHUR Fesif [Option ID = 28681]
3. IAfIAr =Mf [Option ID = 28683]
4. STGRTH FEGT [Option ID = 28682]

Correct Answer :-

o JAIART THT [Option ID = 28683]

56) YR FI 3R fH7 3= A | ST W61 82 [Question ID = 14675]

1. Q@RI [Option ID = 28697]
2. X0id IY [Option ID = 28699]
3. 379 ¥ ®Is el [Option ID = 28700]

4. TGS [Option ID = 28698]

Correct Answer :-
o TIRIV [Option ID = 28698]

57) 3AUYY HTod H HSdP T &2 [Question ID = 14604]

1. ©¢ [Option ID = 28413]

2. 3UHT [Option ID = 28415]
3. ¥U&b [Option ID = 28416]
4, 3ABR [Option ID = 28414]

Correct Answer :-
« g [Option ID = 28413]

58) ‘Re¥ W gHaT AT fHue! TaT 82 [Question ID = 14653]

1. HIg B [Option ID = 28612]

2. IS T1ed [Option ID = 28611]

3. JUSATY 3F’ [Option ID = 28610]
4. 3T. = [Option ID = 28609]

Correct Answer :-
« JUSATY ‘3RS’ [Option ID = 28610]

59) ‘U gIga’ fHT®T AT 82 [Question ID = 14594]

1. HIg B [Option ID = 28374]
2. 31 [Option ID = 28376]

3. HHUR [Option ID = 28375]

4. QA< AfeT [Option ID = 28373]



Correct Answer :-

« g AH [Option ID = 28374]

60) I |t 9199 QW= P arat” fF faur #Y =1 82 [Question ID = 14593]

1. 3faeT [Option ID = 28372]
2. FfddT [Option ID = 28369]
3. ®fd-gd TS [Option ID = 28371]
4. HEHI [Option ID = 28370]

Correct Answer :-
+ $fd-gd U [Option ID = 28371]

61) ‘31T Ta’ & TATHR &- [Question ID = 14588]

1. XTg! ALY ST [Option ID = 28349]

2. T il [Option ID = 28350]

3. YMRR ¥8TgR Rig [Option ID = 28352]
4. faiie TR Y& [Option ID = 28351]

Correct Answer :-
« G AYY ST [Option ID = 28349]

62) ‘RIS’ fHTP! TEAT 82 [Question ID = 14613]

1. QI8 Did [Option ID = 28449]
2. AR [Option ID = 28452]
3. G [Option ID = 28451]
4. ATUfd [Option ID = 28450]

Correct Answer :-
« TfaRM™ [Option ID = 28452]

63) ‘GPpa’ IUE fFY TWAIHR o182
[Question ID = 14667]

1. RIIRTIRRT 7w [Option ID = 28666]

2. 379 ¥ ®Is &l | [Option ID = 28668]

3. QUEIHHART M [Option ID = 28667]
4, Ag-ard fgadl [Option ID = 28665]

Correct Answer :-

« JUHIHHRI =IgH [Option ID = 28667]

64) ‘YR TURY’ ATe® fraeT forar gam 82
[Question ID = 14636]

1. YdTI-IRTGUT fHY [Option ID = 28541]

2. T8 ¥ PIg Tl [Option ID = 28544]

3. 3P STHIGARIE [Option ID = 28543]

4. SR e THET [Option ID = 28542]

Correct Answer :-

o IR ARt UHYT' [Option ID = 28542]

65) ‘HaUT T 8?2

[Question ID = 14680]



1. 3fd [Option ID = 28718]

2. T8 ¥ P13 &I [Option ID = 28720]
3. 3{dDR [Option ID = 28717]

4, ¢ [Option ID = 28719]

Correct Answer :-
« ©q [Option ID = 28719]

66) ‘U AIRIA® Pt S & TWATPR &
[Question ID = 14651]

1. Ygd HipdT [Option ID = 28601]
2. gfaaary [Option ID = 28604]

3. Affrdg S [Option ID = 28602]

4. YITAa g [Option ID = 28603]

Correct Answer :-

« Gfaday [Option ID = 28604]

67) ‘gl weHl $e 2 P! JUT P TWAPR §:
[Question ID = 14668]

1. HHAYR [Option ID = 28669]

2. ATHUSY [Option ID = 28671]

3. HIg B [Option ID = 28670]
4. IS g1ed [Option ID = 28672]

Correct Answer :-
o oI5 Tleg [Option ID = 28672]

68) ‘TsRa fras! AT 82
[Question ID = 14625]

1. JAIGR [Option ID = 28498]
2. a0 HETWY [Option ID = 28497]

3. 7% Tifdg Rig [Option ID = 28500]
4. IZI [Option ID = 28499]

Correct Answer :-

. 1% Mfde R¥g [Option ID = 28500]

69) ‘UTHa’ & ITAIPR &-
[Question ID = 14642]

1. S99 I P13 e [Option ID = 28568]

2. gdawid urdt fRT@r [Option ID = 28565]
3. #1tR Ur® [Option ID = 28567]

4. gfATEA Ud [Option ID = 28566]

Correct Answer :-

« AT Ud [Option ID = 28566]

70) ‘& 7w & Hurgs B A?
[Question ID = 14627]

1. dT9 AR 7% [Option ID = 28505]



2. ST HE [Option ID = 28506]
3. YURdg SRYS [Option ID = 28507]
4. Rraure Rrarfga’ [Option ID = 28508]

Correct Answer :-

 dIIPWN Hg [Option ID = 28506]

71) "Wl URBUT & ITWATER §-
[Question ID = 14662]

1. XS [Option ID = 28646]

2. I 199 [Option ID = 28647]

3. UftRATY U] [Option ID = 28648]
4. aroraTe fiY [Option ID = 28645]

Correct Answer :-
« TRUMSRATY I [Option ID = 28648]

72) Remaye feast el g3 we @2
[Question ID = 14639]

1. HRCR WTGHEH [Option ID = 28555]

2. fRksTess arsroRdt [Option ID = 28553]

3. feeRiara Mart [Option ID = 28554]

4. faymRATY T SIS’ [Option ID = 28556]

Correct Answer :-
o fAYmRATY M BIRG [Option ID = 28556]

73) ‘ETd g & AR #:

[Question ID = 14645]

1. aPI-e W [Option ID = 28579]

2. 379 Y HI3 7IET [Option ID = 28580]

3. USRI g [Option ID = 28578]
4. RRI9ysH ¥gw [Option ID = 28577]

Correct Answer :-
. ﬁmmqﬂ%m [Option ID = 28577]

74) TR R AR fPaat @ 82
[Question ID = 14637]

1. a1 A9 G [Option ID = 28547]
2. SaTaTvTG fl8 [Option ID = 28546]
3. YTH WG [Option ID = 28545]

4. ST Y HIS 81 [Option ID = 28548]

Correct Answer :-
o Qe A9 G [Option ID = 28547]

75) rag-Aa {59 Uy F Ut 82
[Question ID = 14683]

1. RITR [Option ID = 28730]
2. IHERTHTE [Option ID = 28729]



3. UsIad [Option ID = 28732]
4. GeERTST I [Option ID = 28731]

Correct Answer :-
o TUsIIdd [Option ID = 28732]

76) “3fea Igu-fify-vg wR Igar a1a v
fIras Ja-RI 7, W AEH-4T11”
[Question ID = 14679]

1. T8 ¥US 8, [Option ID = 28714]

2. T8 ¥ PIg &I [Option ID = 28716]
3. U8 ghIfad § [Option ID = 28715]

4. 9% IUHT &, [Option ID = 28713]

Correct Answer :-
« JE ¥US &, [Option ID = 28714]

77) “urg far v w1 ot faftg = Rren g uta vars 17-ug Sfa fva wameR 3 32
[Question ID = 14617]

1. JaHIGr [Option ID = 28466]
2. U [Option ID = 28468]
3. @SN [Option ID = 28467]
4. I8 [Option ID = 28465]

Correct Answer :-

« oI [Option ID = 28466]

78) “UT AP 3% HTHRYT W I fag R & afsr sRY 1”7 - fvw &fa ot SfF 82
[Question ID = 14619]

1. RGN [Option ID = 28473]
2. Y@M [Option ID = 28474]
3. ITQH [Option ID = 28475]
4. ATHTETY [Option ID = 28476]

Correct Answer :-
o YW [Option ID = 28474]

79) “gerit & quet & U W F gu ot fF urft o - vt § wdweRer F 95 W e §17- a8 Sy 5 s $13?
[Question ID = 14614]

1. goRIYTE fgadl [Option ID = 28453]
2. IAfIAR 2HT [Option ID = 28456]

3. JHEE YA [Option ID = 28454]

4, 9eR 8 [Option ID = 28455]

Correct Answer :-
o JHdg Yo [Option ID = 28454]

80) “aif¥eT IWH ®1U 2..” , f5a +fa It I &2
[Question ID = 14621]

1. <d [Option ID = 28483]



2. 3T, [Option ID = 28482]
3. AR [Option ID = 28484]
4. YT [Option ID = 28481]

Correct Answer :-
« 34 [Option ID = 28483]

81) ‘WeHd IIsdY’ fHT 79 FI T 82
[Question ID = 14612]

1. 3% I [Option ID = 28448]
2. TR I [Option ID = 28446]
3. B9 9 [Option ID = 28447]
4. 9R 9 [Option ID = 28445]

Correct Answer :-
o BIY XY [Option ID = 28447]

82) ‘wifaxiie Iifecy &t gHwTe’ fras! T 82
[Question ID = 14649]

1. IWTITT THT [Option ID = 28594]
2. 378 9 DIS 7TgT [Option ID = 28596]
3. Qehia FAuret FARTer [Option ID = 28593]

4. STAHEE T [Option ID = 28595]

Correct Answer :-

« AR TET [Option ID = 28594]

83) Uy & I’ [Pt =T ®?
[Question ID = 14647]

1. TARTET [Option ID = 28586]

2. AETCdt 9T [Option ID = 28587]
3. YURdg RY= [Option ID = 28588]
4. UHdE [Option ID = 28585]

Correct Answer :-

. TgIcdt g [Option ID = 28587]

84) ‘HTd B! Hgl e Al S|
3Tad ST gAfear gét faafy m g
-gg I frasd T | uls 82

[Question ID = 14595]

1. ™G [Option ID = 28377]
2. AFTHIGIYE [Option ID = 28378]

3. Ay [Option ID = 28380]
4, IRHS <19 [Option ID = 28379]

Correct Answer :-

« PSR [Option ID = 28377]

85) ‘B R g fHasT am gaid 82

[Question ID = 14646]



1. A Hip ™ [Option ID = 28582]
2. 370 T D3 T8l [Option ID = 28584]
3. GfeIgg R aredIaH ‘3R’ [Option ID = 28583]
4. SATERATA 8% [Option ID = 28581]

Correct Answer :-

o gd Jih AR [Option ID = 28582]

86) ‘WP ATcH fhapT foraT g 82
[Question ID = 14628]

1. XTST AEHUMRIE [Option ID = 28511]

2. A8 B [Option ID = 28510]

3. Rravare RarfEe’ [Option ID = 28512]
4, 3T AR [Option ID = 28509]

Correct Answer :-
« ST A&qUIRig [Option ID = 28511]

87) 3T HI YR &t g FeT Arfew’- THT fHT TWATSR BT WHHAT UT?
[Question ID = 14602]

1. IRIVTG fgddl [Option ID = 28406]
2. 379  HIS 7TeT [Option ID = 28408]
3. JHTg YA [Option ID = 28405]

4, TR T TERY [Option ID = 28407]

Correct Answer :-
o TEER MR [Option ID = 28407]

88) ‘HURINIRA’ & ITTATPR &:
[Question ID = 14672]

1. AETARYTG fgadl [Option ID = 28687]
2. 379 ¥ ®Is T8l [Option ID = 28688]
3. GTTHTS TIRISH [Option ID = 28686]

4, FIfdeUdTE W3 [Option ID = 28685]

Correct Answer :-

. HEIEIRYETE fgad [Option ID = 28687]

89) Il YUSA’ P Udd® B4 A? [Question ID = 14609]

1. W gRERT [Option ID = 28436]
2. HGary [Option ID = 28435]

3. ARG [Option ID = 28433]

4. gTHIER Y [Option ID = 28434]

Correct Answer :-

« Wt 8ker [Option ID = 28436]
90) IAPR & fFy Wg & 3idifad DHTUT AP 3T 82
[Question ID = 14678]

1. 379 ¥ P13 TaT1 [Option ID = 28712]
2. XeaTdPR [Option ID = 28709]

3. 3fUfdPHR [Option ID = 28710]

4, IYITABR [Option ID = 28711]



Correct Answer :-
 WeGIAPR [Option ID = 28709]

91) ‘wfqaracll’ frH®) TT 82 [Question ID = 14674]

1. TG [Option ID = 28696]

2. Jadia™ [Option ID = 28693]
3. HIEEN [Option ID = 28694]
4. BIqwarHt [Option ID = 28695]

Correct Answer :-

o G [Option ID = 28693]

92) ‘feaaifit’ ¥ TETPR §- [Question ID = 14620]

1. TRIIH & [Option ID = 28478]
2. HIEE [Option ID = 28480]
3. HURM [Option ID = 28477]

4. SAYS Y [Option ID = 28479]

Correct Answer :-
» PHURIH [Option ID = 28477]

93) “39 YPR 4! A deed] Mais! &1 &1d, B f&dt &1 snfewra wed €, yrar &1 = A sruvwr &1 € 9ga §17- g8 Sfd
ferT®t 82 [Question ID = 14590]

1. IHTE YT [Option ID = 28360]

2. 91§ MY TN [Option ID = 28357]
3. gORIYATE fgde [Option ID = 28358]
4. UdTg AR fl% [Option ID = 28359]

Correct Answer :-

. BORIVATG fgadl [Option ID = 28358]

94) AR Rig F ATIR TS el igia Bt YR=3ATd 81d1 8- [Question ID = 14669]

. "<’ ¥ [Option ID = 28674]

. AT U &1 ST ¥ [Option ID = 28673]

. ‘@1 ST1g 31ehaT ¥ [Option ID = 28675]
PR ¥ fHAR 9%’ T [Option ID = 28676]

N WN =

Correct Answer :-
« ‘ORI [Option ID = 28674]

95) I T3 # U ©e P AT 82 [Question ID = 14606]

1. TS 3R G&RY [Option ID = 28423]
2. \IR3T [Option ID = 28424]

3. GIgT 3R YIRST [Option ID = 28422]

4. TY 3R ggT [Option ID = 28421]

Correct Answer :-
. BT 3R g&T [Option ID = 28421]

96) Tt AP F Y F ITATBR 8- [Question ID = 14630]

1. ST W [Option ID = 28518]

2. dequitelled [Option ID = 28519]
3. YGRIW dTd [Option ID = 28520]
4. Ted Y [Option ID = 28517]

Correct Answer :-
« SXM3{eTT W [Option ID = 28518]



97) ‘BTl fHT®! Te=-T Rd® 82 [Question ID = 14670]

1. gfaaaiy [Option ID = 28679]

2. JH<g YA [Option ID = 28677]
3. IMfIar =T [Option ID = 28680]
4, 9eR g [Option ID = 28678]

Correct Answer :-
+ AR g [Option ID = 28678]

98) ‘WRE a4 1 AU’ fHY faem #t T=AT 82 [Question ID = 14638]

1. FIIC® [Option ID = 28551]
2. HfddT [Option ID = 28550]
3. 379 P13 7Iel [Option ID = 28552]
4. HEHI [Option ID = 28549]

Correct Answer :-
« HgHI [Option ID = 28549]

99) ‘Ed-UgaArR & YT frw adf et 78? [Question ID = 14599]

1. T 1934 [Option ID = 28395]
2. T 1932 [Option ID = 28396]
3. T 1930 [Option ID = 28394]
4. 9 1929 [Option ID = 28393]

Correct Answer :-
e Y1929 [Option ID = 28393]

100) ‘feATaell’ Pt AT 82 [Question ID = 14607]

1. RUfd = [Option ID = 28427]
2. HH [Option ID = 28428]

3. I9HM [Option ID = 28426]

4. g [Option ID = 28425]

Correct Answer :-
o JYHM [Option ID = 28426]



